Efficiency vs. dz (PV) [_Efficiency (tracking eff factorized out) vs. dz (PV) ]

S0.05 e L
o @
$9.045] S
° = I--
50.04 3
= Q
3.035 =
: 3 08
14 c
£0.03 5
oy S
2.025 £ 06
°
£002 o
0.015 :

0.0] 02
0.005F C

FE T P P U P | U T FUTE DU PR P

g +# o+
I T
@ o

0% D01 02z 03 04 05 06 0% oI 0z 03 04 05 06

Cut on dz(PV) (cm) Cut on dz(PV) (cm)

—=— DOM_TT__ornigmal
—— DQM_TT_mod_xmodels_truthfinal_model TEST-29
—— DQM_TT__mod_xmodels_truthfinal_reg_modelTEST-27

—— DQM_TT_mod_xmodels_truthallhits_model TEST-29

[[Fake rat{ —— DOM_TT__mod xmodels_truthallhits_reg_modelTEST-25

03 04 05 06
Cut on dz(PV) (cm)

03 04 05
Cut on dz(PV) (



	Contents
	Page 1


